Load Tables Notes to Designer

Example (Use of Load Tables)

7-175 Wall Cladding (Metric)
(Normal Importance Category
LLF =1.4 and I, = 0.75)

Given:

Triple span continuous,

L=2.2m each span

Deck thickness, t =0.610 mm

L/240 deflection limit

Bearing length, N = 60 mm

Wind live load, LL = 2.2 kPa

The Live Load is the value of the
boxed-in portion of the specified
wind load expression [1].

Solution:
Strength “S”
1) Specified loads = 2.2 kPa
2) Maximum specified load (from
Load Table) is 2.59 kPa
Since 259> 2.2 .0K

Check web crippling (N = 60 mm)
End reaction =

0.400(2.2)2.2 = 1.94 kN/m

(from section property table)

Pe = Pe1 + Pez [N/t]™

=1.45 + 0.362[60/0.610]"*

=5.04 kN/m

Since 5.04 > 1.94 -.0K

Interior reaction =
1.1(2.2)2.2 = 5.32 kN/m

(from section property table)
Pi = P” + PiZ [N/t]”2

=2.90 + 0.494[60/0.610]"
=7.80 kN/m

Since 7.80 > 5.32 ..0K

Deflection “D”
From table L/180 = 3.87 kPa
For L/240, multiply 3.87 by 180/240
=290 kPa
Since 2.90 > 2.2 ..0K




